e Triumph Daytona 675/R (‘13-)
4l Foeing) ENGINE SLIDERS

[R] (art# T-67513e5R)

SLIDER BASE [R]

SLIDER PUCK M8MFJ
(SDR-M8MFJ)

SOCKET HEAD M6x30
(SBT-M630)

SOCKET HEAD M6x35

(SBT-M635)
COLLAR 7-6
(CLR-7-6)
SOCKET HEAD M8x30 COLLAR 32-6
(SBT-M830) (CLR-32-6)
SOCKET HEAD M6x60
WASHER M8 (SBT-M660)

(WS-8)

[L] ar# T-67513E81)

COLLAR 35-6
(CLR-35-6)

SOCKET HEAD M6x65

SLIDER BASE [L] (SBT-M665)

SLIDER PUCK M8MFJ
(SDR-M8MFJ)

WASHER M8

COLLAR 35-6 (WS-8)
(CLR-35-6)
SOCKET HEAD M8x30
(SBT-M830)

SOCKET HEAD M6x65
(SBT-M665)



